
Subject: Re: This looks like the opposite of what I'm asking....
Posted by Wayne Parham on Thu, 22 Mar 2007 16:06:31 GMT
View Forum Message <> Reply to Message

I see.  Then connect it like this:         (+)          |          |     -----------     |          |     s          s     p         
p     k          k     |          |     |          |     s          s     p          p     k          k     |          |     |          |     s     
    s     p          p     k          k     |          |     |          |     s          s     p          p     k          k     |          |    
-----------          |          |         (-)Each speaker is represented by "spk" with the "s" side being
positive and the "k" side being negative.  The total impedance of the network is double the
impedance of a single driver.
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